Transfers Report

This report contains the transfers results.

Contest Name

Ward 1 - Kirriemuir and Dean

Valid Votes
4,515

Positions to be Filled
Quota

1,129

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Julie BELL	Scottish National Party (SNP)	1,321
Rachel Cordelia GRIEVE	Scottish Labour Party	303
George MEECHAN	Scottish National Party (SNP)	574
Sandra O'SHEA	Scottish Liberal Democrats	230
Ronnie PROCTOR	Scottish Conservative and Unionist	962
Euan WALKER-MUNRO	Scottish Conservative and Unionist	772
Ian WHYTE	Scottish Green Party	353
	Total	4,515

Candidate Julie BELL Elected with 1,321 votes, being in excess of the quota of 1,129

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Julie BELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Rachel Cordelia GRIEVE	49	0.14534	7.12166
Transfer to George MEECHAN	1,058	0.14534	153.76972
Transfer to Sandra O'SHEA	23	0.14534	3.34282
Transfer to Ronnie PROCTOR	21	0.14534	3.05214
Transfer to Euan WALKER-MUNRO	14	0.14534	2.03476
Transfer to Ian WHYTE	109	0.14534	15.84206
No further preference	47	0.14534	6.83098
Not transferred due to rounding			0.00586
	Total		192.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Sandra O'SHEA

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Rachel Cordelia GRIEVE	74	1.00000	74.00000
Transfer to George MEECHAN	11	1.00000	11.00000
Transfer to Ronnie PROCTOR	42	1.00000	42.00000
Transfer to Euan WALKER-MUNRO	27	1.00000	27.00000
Transfer to Ian WHYTE	47	1.00000	47.00000
Transfer to Rachel Cordelia GRIEVE	2	0.14534	0.29068
Transfer to George MEECHAN	8	0.14534	1.16272
Transfer to Euan WALKER-MUNRO	1	0.14534	0.14534
Transfer to Ian WHYTE	8	0.14534	1.16272
No further preference	29	1.00000	29.00000
No further preference	4	0.14534	0.58136
Not transferred due to rounding			0.00000
	Total		233.34282

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Rachel Cordelia GRIEVE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to George MEECHAN	49	1.00000	49.00000
Transfer to Ronnie PROCTOR	65	1.00000	65.00000
Transfer to Euan WALKER-MUNRO	32	1.00000	32.00000
Transfer to Ian WHYTE	105	1.00000	105.00000
Transfer to George MEECHAN	21	0.14534	3.05214
Transfer to Ronnie PROCTOR	3	0.14534	0.43602
Transfer to Euan WALKER-MUNRO	2	0.14534	0.29068
Transfer to Ian WHYTE	10	0.14534	1.45340
No further preference	126	1.00000	126.00000
No further preference	15	0.14534	2.18010
Not transferred due to rounding			0.00000
	Total		384.41234

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Ian WHYTE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to George MEECHAN	187	1.00000	187.00000
Transfer to Ronnie PROCTOR	53	1.00000	53.00000
Transfer to Euan WALKER-MUNRO	31	1.00000	31.00000
Transfer to George MEECHAN	82	0.14534	11.91788
Transfer to Ronnie PROCTOR	2	0.14534	0.29068
No further preference	234	1.00000	234.00000
No further preference	43	0.14534	6.24962
Not transferred due to rounding			0.00000
	Total		523.45818

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Euan WALKER-MUNRO

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to George MEECHAN	15	1.00000	15.00000
Transfer to Ronnie PROCTOR	730	1.00000	730.00000
Transfer to George MEECHAN	5	0.14534	0.72670
Transfer to Ronnie PROCTOR	4	0.14534	0.58136
No further preference	117	1.00000	117.00000
No further preference	8	0.14534	1.16272
Not transferred due to rounding			0.00000
	Total		864.47078